MINOURN

G5

(

How To Install )

1]

2]

Warranty Period: 1 year after purchase

At first, set the rack to the front
wheel axle by replacing the quick
release skewer to the supplied
longer one.

Set the Fitting Bracket to the rack
with the supplied bolt, nut and
washers temporally. Do on both
sides.

Remove the brake pivot bolt

(do not remove the brake arm)
and install the Fitting Bracket
above the brake arm.

Tighten the pivot bolt with M6
flat washer firmly.

Adjust the rack angle, then finally
tighten M6x18 Bolt firmly.

Max Load : 10 kgs (5 kgs each side)

Front Pannier Rack FPR=-3000 — instructions manual

FPR-3000

9449247010676

4

A Caution

standard quick release skewer and V-brake.

or for thru type axle) cannot be used with this rack.
* Requires disassembling V-brake. Ask to professional

perfectly.

* This rack is designed for mounting pannier bags. It is not
equipped with a standard top panel for mounting baggage on
it.

Choose the pannier bag with the hook for 10mm diameter
tubing.

check for damage before each ride.

M6 Flat Washer & Nut

M6 Flat Washer

M6x18 Bolt,
M6 Spring Washer,
M6 Flat Wasaher

Quick Release

< No Tool Contained >

MINOURA JAPAN (for ALL customers)

1197-1 Godo, Anpachi, Gifu 503-2305 Japan
Phone: +81-584-27-3131 / Fax: +81-584-27-7505
Email: minoura@minoura.jp / Web: www.minoura.jp

MINOURA North America (for U.S. residents ONLY)
Hayward, California, U.S.A.

Phone: 1-510-538-8599 / Fax: 1-510-538-5899

Email: support@minourausa.com

Made in Japan

* FPR-3000 is a front pannier rack for the bike which has 9mm

Any other front forks (specialized for caliper brake, disc brake

mechanics if you are not confident on re-assembling V-brake

» Make sure all nuts and bolts are firmly tightened and always

Skewer (supplied)



